ONOMA:

H nponautdelo. Ttou R

Z ouriinpwvew ™y nponaudela tou Q.
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YnoAoyiTw Ta NOLPAKATW YVOUEVA.

AXQA=___ IXQA=___ 6XA=___

OXQ=___ AX9=___

AlaBagw kafd kal padaivw an’ EEw ™My nponaudeila tou Q.

MaSaivw ar’ EEw oav noinuataki:

\ 1A X2 =2 (Jua popd to Svo 8uo)

2 X 2 =4 (8Vo popes To 8o TECTEP)

3 X Q=6 (tpeLs popes to SVo EEL)

4 X Q2 =8 (TEcTEPLS POPES TO SUO OXTW)

S X Q=10 (nevte popes 1o 8o 8eka)

6 X Q=12 (EEL popes To 8Uo Swdeka)

F X2 =14 (entd popes to 8o Sekatecoepa)
8 X 2 =16 (oxTw popes to SVo BEKAEEL)

9 X Q = 18 (EVVIA POPES TO SO BEKAOKTN) \

(10 X2=20( Sexa @pés To 800 ElkOO)
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